
 

 

 

 
   

– 

 

 
 

 

 

– 

 

 

 

 

 

– 

 

 

 

 

 

 

 

 

– 

QBASIC 

 
1) IF X MOD 3 = 0 OR Y <> 0 Then CLS 
2) Print Int(Y – X)  
3) IF n1 > n2 THEN Print n1, n2 ELSE Print n2, n1 
4) IF R < 0 THEN Print abs(R) ELSE END  

– 

 

   

 

– 

 

RUNStart F5  

  <F5 = RUN> F5SHIFT 



 

 

 

 

 

– 

–   

 

 

–  

– TCP/IP , HTTP, HTTPS 
–  

– 

 

 

 

 

 











 

– 

1) IF N>= 0 THEN PRINT Fix(N/4) ELSE PRINT ABS(N – 4) 

 

2) IF X/5 = FIX(X/5) THEN Print X 
3) FOR C = 3 TO 30 STEP 3 
    Sum = Sum + C 
 Next C 
4) Print , , , , , 3 * ( X – 2) 

– 


 
 

–     

– 

REM 

 

  INT(X)(X) 

STEP 

(ESC)QBASIC 



 

 

 

– 

 

 
 

 

 

– 
  

 
  

– (3) 0 (2) 5 (1) True  

– 

 A > B OR C > D 

 

 X$ = Y$ 

   

 

  ALT 

– 

(1) 
FOR J = 1 TO 20 
   Input N 
   Print cInt(N/5) 
Next N 

(3) 
INPUT L1 , L2 
L3 = SQR(L1 ^ 2 + L2 ^ 2) 
PRINT L3 
END 

 
(2) 

Input n 
sum = 0  
FOR K = 2 TO n Step 1 
   sum = sum + K / 2 
Next K 
Print 100 * sum 

–    

– 
(1) 

 1  JORDDAN 
(2) 

  2    3  



 

 

 

(3) 
 

(4) 
 13   12 

– (EDI)   

 

 

 

 


